



St. Louis County, Minnesota

Date of Report: 5/14/2025 8:40:36 AM

General Details

 Parcel ID:
 755-0010-01550

 Document:
 Abstract - 01476276

Document Date: 10/12/2023

Legal Description Details

Plat Name: UNORGANIZED 59-21

Section Township Range Lot Block

10 59 21

Description: LOT 1

Taxpayer Details

Taxpayer Name INSULAKE LLC

and Address: 406 WACOUTA ST # 713

ST PAUL MN 55101

Owner Details

Owner Name INSULAKE LLC

Payable 2025 Tax Summary

2025 - Net Tax \$3,555.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$3,640.00

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15	Total Due		
2025 - 1st Half Tax	\$1,820.00	2025 - 2nd Half Tax	\$1,820.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$1,820.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,820.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$1,820.00	2025 - Total Due	\$1,820.00

Parcel Details

Property Address: 12419 HANNON RD, HIBBING MN

School District: 701

Tax Increment District:
Property/Homesteader: -

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
151	0 - Non Homestead	\$61,000	\$306,200	\$367,200	\$0	\$0	-		
111	0 - Non Homestead	\$34,000	\$0	\$34,000	\$0	\$0	-		
	Total:	\$95,000	\$306,200	\$401,200	\$0	\$0	4012		





St. Louis County, Minnesota

Date of Report: 5/14/2025 8:40:36 AM

Land Details

Deeded Acres: 54.60

Waterfront: ISLAND (15-59-21)

Water Front Feet: 1500.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: H - HOLDING TANK

ewer Code & Desc:	H - HOLDING TANK							
ot Width:	0.00							
ot Depth:	0.00							
ne dimensions shown are naps://apps.stlouiscountymn	ot guaranteed to be surv .gov/webPlatsIframe/frml	ey quality. <i>I</i> PlatStatPop	Additional lot i	information can be	e found at tions, please email Property	Fax@stlouiscountymn.gov		
		mprover	ment 1 Det	ails (2015 SF	R)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc		
HOUSE	2015	1,9	20	1,920	-	1S - 1 STORY		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	0	0	1,920	-			
Bath Count	Bedroom Coun		Room Co	ount	Fireplace Count	HVAC		
1.0 BATH	3 BEDROOMS		5 ROOM	IS	1	C&AC&EXCH, GAS		
		Improve	ment 2 De	tails (2015 A	G)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc		
GARAGE	2015	1,30	08	1,308	-	ATTACHED		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	0	0	1,308	-			
	lr	nprovem	ent 3 Deta	ils (8X12 ST	SH)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	96		96	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	0	8	12	96	POST ON G			
	lm	nroveme	ent 4 Detai	ils (NEW SAU	INA)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
SAUNA	2016	20		200	-	Style Code & Dest		
Segment	Story	Width	Length	Area	Founda			
BAS	0	10	20	200	POST ON G			
BAO	<u> </u>					ROOND		
		-		ails (NEW SC	•			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
SCREEN HOUSE	0	14	•	144	-	-		
Segment	Story	Width	Length	Area	Founda			
BAS	0	12	12	144	POST ON G	ROUND		
Improvement 6 Details (NEW LT WD)								
	10							
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc		
Improvement Type LEAN TO		-		Gross Area Ft ² 64	Basement Finish	Style Code & Des		
	Year Built	Main Flo			Basement Finish - Founda	Style Code & Desc		





St. Louis County, Minnesota

Date of Report: 5/14/2025 8:40:36 AM

Improvem		ment 7 [Details (SHED)					
Main Floor I	vement Type		Gross Area Ft ²	Basement F	inish	Style Co	ode & Desc.	
192	GE BUILDING		192	- Basement i				
	Segment				Foundat	tion		
12	BAS	16	192		ST ON GI			
BAS 1 12 16 192 POST ON GROUND Improvement 8 Details (SHED)								
Main Floor I	vement Type		Gross Area Ft ²	Basement F	inish	Style Co	ode & Desc.	
192	GE BUILDING		192	-		Ciyio Ci	-	
Width	Segment	Length	Area		Foundat	tion		
12	BAS	16		POS	ST ON GI	ROUND		
rovement		t 9 Deta	ils (CONTAINER	(S)				
Main Floor I	vement Type		Gross Area Ft ²	•	inish	Style Co	ode & Desc.	
640	GE BUILDING		640	-		•	-	
Width	Segment	Length	Area		Foundat	ndation		
8	BAS	40	320	POS	POST ON GROUND			
nprovemen		ent 10 Do	etails (40x40 PB)				
Main Floor I	vement Type		Gross Area Ft ²		inish	Style Code & Desc.		
1,600	BUILDING)	1,600	-			-	
Width	Segment	Length	Area		Foundat	tion		
40 40 1,600 FLOATING SLAB			SLAB					
8	LT	40	320	POST ON GROUND				
eported to		o the St.	Louis County A	Auditor				
Р	Sale	Purchase	Price		CRV	/ Number		
	10/2	\$569,0	000		2	56294		
	03/2	\$43,0	00		2	09698		
	06/1	\$25,0	00		1	16974		
	06/1	\$25,0	00		1	17169		
Asse		sessmer	t History					
and		Blo	dg Tota		ef nd	Def Bldg	Net Tax	
MV	ear	EN				EMV	Capacity	
5,200		\$265	,800 \$322,	000 \$	0	\$0	-	
),900	able 2025	\$0	\$30,9	900 \$	0	\$0	-	
7,100		\$265	,800 \$352,	900 \$	0	\$0	3,529.00	
1,000		\$252	,100 \$306,	100 \$	0	\$0	-	
,400	able 2024	\$0	\$29,4	100 \$	0	\$0	-	
3,400		\$252	,100 \$335,	500 \$	0	\$0	3,355.00	
I,000		\$252	,100 \$306,	100 \$	0	\$0	-	
9,400	rable 2023	\$(\$29,4	100 \$	0	\$0	-	
3,400		\$252	,100 \$335,	500 \$	0	\$0	3,355.00	
),500		\$233	,000 \$283,	500 \$	0	\$0	-	
7,200	rable 2022	\$0				\$0	-	
7,700		\$233	,000 \$310,	700 \$	0	\$0	3,107.00	
7	/able 2022	3,400 0,500 7,200 7,700	0,500 \$233 7,200 \$(0,500 \$233,000 \$283, 7,200 \$0 \$27,2	0,500 \$233,000 \$283,500 \$ 7,200 \$0 \$27,200 \$	0,500 \$233,000 \$283,500 \$0 7,200 \$0 \$27,200 \$0	0,500 \$233,000 \$283,500 \$0 \$0 7,200 \$0 \$27,200 \$0 \$0	





St. Louis County, Minnesota

Date of Report: 5/14/2025 8:40:36 AM

Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$3,365.00	\$85.00	\$3,450.00	\$83,400	\$252,100	\$335,500			
2023	\$3,719.00	\$85.00	\$3,804.00	\$83,400	\$252,100	\$335,500			
2022	\$3,791.00	\$85.00	\$3,876.00	\$77,700	\$233,000	\$310,700			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.